
1 2 3 4 5 6 7 8 9 10 11 12

1 दधू मे गाय 87 0 3 90 0 0 9 0 0 81

2 शçुक गाय 43 0 9 52 0 0 3 0 0 49

3 Ĥͧश¢ण हेतु 15 0 0 15 0 0 0 0 0 15

4 औसर 152 0 1 153 0 0 0 0 0 153

5 मादा बÍचे 63 2 0 65 0 0 1 0 0 64

6 सांड बछड़े 15 0 2 17 0 0 0 0 0 17

7 नर बÍचे 30 1 0 31 1 0 2 0 0 28

405 3 15 423 1 0 15 0 0 407

1 दधू मे गाय 4 0 0 4 0 0 0 0 0 4
2 शçुक गाय 1 0 0 1 0 0 0 0 0 1
3 औसर 9 0 0 9 0 0 0 0 0 9
4 मादा बÍचे 0 0 0 0 0 0 0 0 0 0
5 नर बÍचे 2 0 0 2 0 0 0 0 0 2
6 सांड बछड़े 0 0 0 0 0 0 0 0 0 0

16 0 0 16 0 0 0 0 0 16

दधू मे गाय 11 0 0 11 0 0 1 0 0 10
शçुक गाय 19 0 1 20 0 0 0 0 0 20
औसर 18 0 2 20 0 0 0 0 0 20
मादा बÍचे 12 0 0 12 0 0 2 0 0 10
नर बÍचे 4 0 0 4 0 0 1 0 0 3
सांड बछड़े 4 0 1 5 0 0 0 0 0 5

68 0 4 72 0 0 4 0 0 68

eknk cPps 0 0 0 0 0 0 0 0 0 0

489 3 19 511 1 0 19 0 0 491

1  गाय 16 0 0 16 0 0 0 0 0 16
2 सांड @cSy 85 0 0 85 0 0 0 0 0 85

101 0 0 101 0 0 0 0 0 101

1  गाय 4 0 0 4 0 0 0 0 0 4
2 सांड @cSy 10 0 0 10 0 0 0 0 0 10

14 0 0 14 0 0 0 0 0 14

1 गाय 0 0 20 20 0 0 0 0 0 20
115 0 20 135 0 0 0 0 0 135

604 3 39 646 1 0 19 0 0 626
* TWH - TRANSFER WITHIN THE HERD.
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